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Please check whether you have got the right qupstlom gp
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1. Q.1is compulsory. A _:‘ QAT S 2y
2. Attempt any three from remaining five que,&tmng S B N
3. Answers to sub guestions should be wrltten together Y
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Consider the following snapshot of the sys'ge;r-'n 3 '.-_--11*:*-'%_ & O ™
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Using Bankers algorithm 'S d};’ |

. What is the content of Matrix. Need? S ﬁgs_-'
i. Isthe system in safe state? Glueéé’@ nce.
iii. Ifthe Lequest frum“PHl arrwesfur {ﬁ 0,2 can the request be granted
lmmediatelv? S ,. %”? T, -_ =

Define paging? Exptaln the technT@‘% t gre x{§ed for structuring the page
table. _ N 1 P el
S SN ¥ IS s
Suppuse that a d:skdrw’f_ as ) cylmﬁ:lers, numbered 0 to 4999. The drive is
currently sewing %reqﬁest af‘}:vltnder 2 l5ﬂ qn d-the previous request was at
c'-,rlmder 1805; The qﬂuﬁqﬁﬁendmg re;ques.ts, in FIFO order, is:
2069, 1212, 22%?3 544 1618, 356, 1523, 4965, 3681
Sta rtmgfrnrn U;hé"@rrent head posnmn, ‘what is the total distance (in cylinders)
that the dxsk:ﬁ?m@u‘aﬁs to satisfy all the pending requests for each of the

fnl!owmﬁ%diﬁ': schﬁiulmg alganthms?
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Mmﬁm
‘ﬁqﬁ_ne semaphcres and munitcrs? Explain their significance for concurrency
. cont

Ly

13: What do you understand by the term real time systems? Explain any one real

tsme schedulmgatgorsthms
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B) Consider the following page reference string: ﬁf 140,
e - & W s LT e A R S B T e i e R Y i N S G u
How many page faults would occur for the foliuwmg replaeement aigpnthmE D )
assuming four frames? ::;.;‘ Pl
Remember that all frames are initially empty, so ynur “fll‘SE—UJ’llquE pageawﬂl _gg?fﬁ .
cost one fault each. 7 s ‘*’5& g
. LRU SVRIDE RSN 3y )
i, FFO S AR e R N
iii.  Optimal Page Replacement PR FE R T Np S W iﬁ‘ =
4 A)  Explain various file allocation technigues. -'.-_?' gy s §*1 -'1'3-.-?-"'-' X -10
B) The following processes are being schedqféd usmg a preemptuve,ﬁu mbinh J.tl
scheduling algorithm. Each processis ass:gned a numerlcal prtgrity, w“th"a higher_
number indicating a higher relatwe pnorntv In addition to fgrag;mpﬂﬁases listed
below, the system also has an idle task (which mnsume;ﬁu CPUqﬁsaurces and
is identified as Pie). This:task has- priority: 0-and is th&ﬁulef whenever the
system has no other available pmcesses to run. The: lﬁngﬁ ﬂ?‘a time quantum is
10 units. ¥ 4 4
If a process is preempted by a higher-priority pr cem the preempt&d process is
placed at the end ::f the queue. - | P :
3 a3 _ ..,}\;1 -'.k;-??;::!m« :
Process .- > ',:f;i.'i'ri\.{al"Ti‘mé_'.:-." Fréc@ Tin"ﬁa -'1"-’*riu::rit1,.r
P1 T PRy F 0
P2 30. 4 25 3 | 25
P3 30 P ggi 30
TN 35 ol ISP . 60
AR R, O S 100
P T R0 A4 _‘j_D-_"h'F'_‘T‘.‘Q‘:,‘ T s 105
e R RO R g ?-_L;~?---'-_¢;""$,r' iy
i _.',;'Shnw the Q;ghedt‘i‘t;qg urder of the prccesses using a Gantt chart.
i~ What isthe narbtmd time for each process?
i, What !S.—ﬁ‘iE waiﬁhgtsme for each process?
5 A)-  Define ker@ély( np@fatmg system. Explain different types of kernels in detalil. 10
B) - Define Em&g‘n Expialn the cnncept of access matrix with the help of an 10
exampfa‘%& -
q; .
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